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.DUHQD SHUWRORQJDQ�� UDKPDW� GDQ� ULGKD�1\D� SHQXOLV� GDSDW� PHQ\HODVDLNDQ� PDWD�
NXOLDK�WXJDV�DNKLU GHQJDQ�EDLN��6KDODZDW�VHUWD�VDODP�VHPRJD�WHUOLPSDK�FXUDKNDQ�
NHSDGD� 1DEL� 0XKDPPDG� 6$:�� NHOXDUJD�� VDKDEDW�� GDQ� XPDW� Q\D� KLQJJD� DNKLU�
]DPDQ�GDQ�VHPRJD�NLWD�WHUPDVXN�RUDQJ�RUDQJ�\DQJ�VHODPDW�

%XNX LQL�GLVXVXQ�XQWXN�PHPHQXKL SHUV\DUDWDQ�GDODP�PHQ\HOHVDLNDQ�7XJDV�$NKLU
�7$��6��7HNQLN�(OHNWUR�8QLYHUVLWDV�7HONRP�%DQGXQJ�

%XNX LQL�PHUXSDNDQ�VDODK�VDWX�NHVHPSDWDQ�\DQJ�GLEHULNDQ�SDGD�PDKDVLVZD�XQWXN
PHQGDODPL�LOPX�SHQJHWDKXDQ�ODQMXW�GDODP�ELGDQJ�WHNQLN��GDQ�NKXVXVQ\D�SHPLQDWDQ�
\DQJ�SHQXOLV�SLOLK��\DLWX�WHNQLN�ELRPHGLV��%LRPHGLFDO�(QJLQHHULQJ���

'L�NHVHPSDWDQ�LQL��3HQXOLV�PHQJXFDSNDQ�WHULPD�NDVLK�NHSDGD�SLKDN�SLKDN�WHUNDLW�
WXJDV�DNKLU� \DQJ� WHODK�PHPEHUL�GXNXQJDQ�GDQ�PHPEDQWX�GDODP�PHQ\HOHVDLNDQ�
WXJDV� DNKLU LQL� GDQ� MXJD� ELPELQJDQQ\D� SDGD� 3HQXOLV�� 8FDSDQ� WHULPD� NDVLK� LQL�
SHQXOLV WXMXNDQ� NHSDGD� %DSDN�'U�$FKPDG�5L]DO�� 6�7��0�7� GDQ� ,EX� 'U�+XVQHQL�
0XNKWDU��6�6L��0�7� VHODNX�SHPELPELQJ�SHUWDPD�GDQ�NHGXD��\DQJ�VXGDK�EDQ\DN�
PHPEDQWX�� PHPELPELQJ�� PHQJDMDUNDQ�� GDQ� PHQGXNXQJ� WXJDV� DNKLU� SHQXOLV��
VHKLQJJD�WXJDV�DNKLU�LQL�GDSDW�VHOHVDL�

%XNX� WXJDV� DNKLU LQL� VXGDK� GLEXDW� GHQJDQ� VHEDLN�EDLNQ\D�� QDPXQ� WHQWX� PDVLK�
EDQ\DN�NHNXUDQJDQQ\D��6HPRJD�EXNX�WXJDV�DNKLU�LQL�GDSDW�PHPEHULNDQ�PDQIDDW�
GDQ�LQVSLUDVL�EDUX�EDJL�SHPEDFD�GDQ�SHQHOLWLDQ�VHODQMXWQ\D�
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